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el Ndo=gdsXa (Sl & &)
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OU=S0 =TS A} 15,000
202 044l 12,960 18,000 25,040
01 = LH 4 1l 12,960 18,000 A5,040
OXGo=&4dst X F=E0 12,960
IEAMEEIAN2E 50,000 50,000 0
J| 25,000
< 25,000
307 21201 A 50,000 50,000 0
J| 25,000
< 25,000
02 It S AIHE L 50,000 50,000 0
OZSAMHEAM2S N 50,000
J| 25,000
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KNS A 2t WX 880,000 806,000 74,000
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307 glz2tol & 880,000 300,000 580,000
= 440,000
S 440,000
02 LIt HAMHEE 880,000 300,000 580,000
OZ923lznsSNJAdH2S X 300,000
= 150,000
< 150,000
OXNEELds2stz=nsX 180,000
= 90,000
= 90,000
OBUHERESSTN2IRE 400,000
= 200,000
< 200,000
ot EHa LA 130,000 130,000 0
J| 100,000
< 30,000
308 XXIEHHSOIA 130,000 130,000 0
J| 100,000
< 30,000
01 AXHHILEES 130,000 130,000 0
ORecltsReltEord a4 ZAX A 130,000
J| 100,000
< 30,000
CE=d2g 7,610,010 7,228,773 381,237
301 e A3 7,450,010 7,210,723 239,287
o=t - 2S2S243 7,450,010 7,210,723 239,287
OEgIdcE 3,236,104
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OPIR== 2,313,924
- X 2| Xt 4,374, 1003 «1H 128 52,490
- 3,816,300& x1H x 123 45,796
LN 2,936,500& x1H +123 35,238
-4 2,766,900 x8H «12& 265,623
PR 2,095,700& x8H 123 201,188
- & 2,278,000& *56H 123 1,530,816
-AMNRE 3,770,200& x1H x 123 45,243
- AR & 2,865,200& *4H 123 137,530
o&z2=+¢ 2,313,920,400% *1/12x50%*23| 192,827
OZEFIHHl  2,313,920,400& »1/12x60%*23! 231,393
Olls=¢ 107,400
- X 2| Xt 200,000& x1H+123 2,400
o 180,000 x1H «12& 2,160
LN 180,000 x1&H 123 2,160
-4 150,000 x8H «12& 14,400
- XA 130,000& x8H »12& 12,480
-HR 100,000& x56H »12& 67,200
-ANRE 150,000 x1H «12& 1,800
- AR & 100,000& x4 «12& 4,800
O&d=¢ 36,000
- s 50,000& «56H «12& 33,600
- AR 50,000 «4H « 122 2,400
O 36,600
- X & Xt 450,000& «1H «12& 5,400
- & 300,000& x1Hx12& 3,600
- OHR Xt 300,000& x1H x12& 3,600
- A 100,000& x8H »12& 9,600
- XA 50,0003 «8H «12& 4,800
-ANRE 200,000& x1H «12& 2,400
- AR & 150,000& x4 «12& 7,200
O ZEXHI 90,120
- X2 Xt 220,000& x1H«123 2,640
- 170,000 x1H 128 2,040
- o2 Xt 170,000 x1&H 123 2,040
- & 90,000 72«12 77,760
- AP E 110,000& x1H 128 1,320
- AR & 90,000& «4H 128 4,320
OFAZ A 110,000 x80H «12& 105,600
OXHSHIEX+Y 20,000
-nsSshd 500,000& *10 43 20,000
Odl &gt =g 102,240
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O-gugddEs 3,158,586
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- =4 2,657,400 x 13 x12& 414,555
- XA 2,387,600& x10¥ 122 286,512
=g 2,437,900 48 « 128 1,404,231
-ANR=2E 3,969,900& x1H «12& 47,639
- MRE 2,954,200 x3H «12& 106,352
odgz2=+¢ 2,307,627 ,600& *1/12%50%*23] 192,303
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- X=Xt 200,000& x1& ~12& 2,400
R 180,000 x1&H 123 2,160
- 150,000 x 13 «12& 23,400
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- AR 100,000& 3 x 122 3,600
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-ANR=2E 170,000 x1&H 123 2,040
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40 5 4

Zo2ZH=E= SAN 230
Esti=dLAS
ANSEol=gdsthd

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

201 ¢er24| 20,000 20,000 0
J| 10,000
< 10,000

01 At 22l 20,000 20,000 0
O2d=¢ 20,000
OSLI=SIMSEMEEINFZF 20,000
Jl| 10,000
< 10,000

307 gl2tol & 1,100,000 1,098,000 2,000
J| 670,000
< 430,000

02 IZHE M AHE L 1,100,000 1,098,000 2,000
OsH¥ad=tsENE 600,000
J| 420,000
< 180,000
OddXgAZ2 )X & 200,000
J| 100,000
< 100,000
OXNE=2stu=2&X& 300,000
J| 150,000
< 150,000

S30ISHAL (XA) 4,057,241 3,959,400 97,841
J| 3,620,000
< 437,241

308 XXM SO0 A 4,057,241 3,959,400 97,841
J| 3,620,000
< 437,241

01 IXNHHBNEES 4,057,241 3,959,400 97,841
S22 0SMEXNE 4,057,241
J| 3,620,000
< 437,241

l=2sd2I XA 5,913,000 3,100,000 2,813,000

307 21201 A 2,253,000 1,023,000 1,230,000

02 UAFAAFEE 2,253,000 1,023,000 1,230,000
OM26l Z2=H =Mz X2 30,000
OXOtH==2esXE 320,000
OH248 2232 FAI MM Z X & 15,000
02015029323 H XA 10,000
OM13el8=AdstadEESHE 2 22t 10,000
DEsdadilsnlFdMNX 150,000
ORelotLEA=2A XA 200,000
[J2015AI & S THEI H = KT & 30,000
OM1BSIMANE 2= E M NF XA 30,000
DMzl 2= MM X2 30,000
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OXM3BIM=2A2HEHEE S IAA 20,000
O3s0d480sozd2dAA 20,000
O X423 3 = AFRICH & OH = X & 25,000
OX183 23R AN 2 ALK B 2 & OH £ X & 15,000
20158 =0l =M= X & 100,000
Od==sg2Aag 50,000
Os70=4" 2202l S SN E 100,000
OM183l Y= M IHE X & 50,000
OFMS XN E A= FENE XS 30,000
20158 =SS M (stMsS2dHAUS )N 15,000
OJI2sS23 M= X & 20,000
O9sE0lsl MK 10,000
OAMEoI St Hot=UssS 230 E X & 20,000
Oolso=ootdiol e X & 24,000
OJZ3=sdSH=HAEYY 190,000
OS2 stotd201500 = X & 40,000
OXNEd=s0tel K& 50,000
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OM10s sel=s 2SN = X & 90,000
[JeH A0 =& MO = K& 10,000
0122 - Ol AIEESSHH X & 17,000
120152 0| OFAIOFHA = MI Al & 30,000
O3 A2 HIISAHA=Z2HMNE X & 70,000
[JOtE & =2015X1 & 60,000
M58 R0 ™M S22 M= XA 45,000
X243 M =22LEJI0 23 AU H = X & 20,000
OAMEAEIINLHM N E XS 10,000
ON73 SESAIZE S AN E S U S OHE 15,000
OXM143 M =3I 23 = X & 50,000
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S XNEo=24dsXa (&2 &)

AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
O HI333 ==X & O = X & 25,000
OM173 At E M2 HAEHUER2 S H AU SR E
X& 6,000
OJEUE=01(2=8S)8sX2 10,000
OHZI Y20t A RS = X 15,000
O20158 SHS S M= X & 30,000
Od=ZAIZZEHUS X 42,000
OXM53 B F=M AL 2= A& 70,000
OFFEHEMNLEZAXE 300,000
O32MoSESA=HAEIEINR X 40,000
OM7a 23S AMIE=2S = X & 20,000
CJSEAME S HEZ=DAE XA 30,000
Ogdasotdiol g X 20,000
OM223 2 s M AHAIE2 =0l H2D|8H0HE 100,000
ONMeas 8 =2 UM=K & 6,000
OEHOIEIEC0SE S 23 = X & 30,000
NS R RFSESPARSEEYNFSE-ge: 1 K= ES DR 12,000
OM4g BAHIOIEESHHEUHINA XA 40,000
OYsd7E 2SS0t M= X & 105,000
&0 SHICHH ZH A El S0 = X & 150,000
[J2015& =013 = Al 10,000
OXM4g Al et S MOl &0 = K& 150,000
OR300 =HAK 10,000
X133 2 & CH AP 24 88 2 & 3] K| & 20,000
O2H ctAl S OFH & X & 54,000
O ZStHCtE S 78,000
OM53 A0 =2HAEIAZAUS 20,000
LA MR H A= AL OH S| K& 21,000
SSHX& 24,000

OH43 MDA 23S U HE XS 18,000
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OHM53ES=2HHOISAMSE MIN= X 12,000
CJAI2I 0FEHH 6F = 0ol = & B 11,000
OM153 Lt M2 H I M X & 20,000
ORI A2l WS 23 0= K& 36,000
OM43 E St ELIFSAS A 15,000
020157201 =M S MW= X & 90,000
O20150 & otel & =22 M X & 9,000
[J20152 3 MOl & Ml JH = X & 25,000
[J20150I2I HEH R AIEEH2 A XA 20,000
Oz dFFIEXNH 20,000
O82MM(FS)HEMNE XK 100,000
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A= 2o FHE= FM 230z
M o=ssEEE
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01 HIXNHHNBHNEES 266,000 277,000 A 11,000
OXNS 2L 132,000
OZF=2HdH 2 2EH X 18,000
OMAZE =S X 20,000
O&d=st=23 AUl X 15,000
OZssgddnd i 20,000
D3 =scmu2stel 272l X 10,000
et I H 22 AU X 30,000
OFsFutrUNHISAZHZMEX A 21,000
HEEs L FA 12,760 15,000 A2,240
201 YEt2 | 7,000 7,000 0
01 At 22l 7,000 7,000 0
Opt=2Hl 2,000
OMTRAUS 2,000
O2g+¢ 5,000
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= 1,100,000
< 330,000
OotsSWEI2Z 4 K& 390,000
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403 A X EHH S 20l A 4,157,400 3,997,000 160,400
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A= 2AZH=E= 2M  2asEMY
Hu: 23 SHALEN
¢ 2sdFd (chel & 9l)
L
.24 B GH(3AH) - KR - BES of 4 o4 il HI RS2
OSAI S HAALA X2 75,000
Oaul st E X2 100,000
SRS NG T LHAMY 290,000 0 290,000
Xl 200,000
< 90,000
308 XXM S0l H 290,000 0 290,000
X 200,000
< 90,000
01 HAHHMZBEEES 290,000 0 290,000
O2aStXNAREMS(ANSZH]) 290,000
Xl 200,000
= 90,000
et xd =g 28,112,545 14,148,800 13,963,745
2 138, 150
Al 11,974,000
= 16,000,395
SN2 HE 9,971,500 9,636,800 334,700
Xl 8,249,000
= 1,722,500
403 TtXI M SA=01H 9,971,500 8,536,800 1,434,700
Xl 8,249,000
S 1,722,500
01 HXSHH =L 7,471,500 8,536,800 A 1,065,300
OXsgsdc 208 (NSZH]) 4,749,000
X 4,749,000
O9=sSgc 218 (NEZH) 2,400,000
Xl 2,000,000
= 400,000
OoAd8z8 B MHES=(NEZH]) 322,500
X 300,000
S 22,500
02 SJI2SOICHSHTH At Hl 2,500,000 0 2,500,000
OZECE2RTAHBAY(NETH) 2,500,000
Al 1,200,000
= 1,300,000
CEBTENBRX0Y 11,420,000 0 11,420,000
401 AIEHIZ 2 HYI 11,420,000 0 11,420,000
01 A€ dl 11,420,000 0 11,420,000
OZ=CE33N22X 0 11,420,000
SSTA2M2AANAAT2E 179,595 179,400 195
= 138,150
= 41,445
308 XXM SO0l & 179,595 179,400 195
= 138,150
= 41,445




AR 2HBBAI2 SH o 2esEAMY
M FosdAMEFA
o 230 EA (cho &)
L=
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
01 HIXNHHNBHNEES 179,595 179,400 195
O3S ASN2AIFAT2EX A 179,595
= 138,150
< 41,445
SN ASFE 424,000 1,363,600 A 939,600
202 o4dl 8,000 11,200 A 3,200
01 = LH o4 1l 8,000 11,200 A 3,200
O M2X3AE =& 0| 8,000
308 XX EHH SOl A 112,000 130,000 218,000
01 AXSHBELS 112,000 130,000 218,000
Ot EM223 XA 27,000
OZSENEM2ASTAIS XA 50,000
OZSENENM2ASEEEAE AR 35,000
403 X SHHS =0l & 304,000 1,222,400 A 918,400
01 HIXSHMA=2E X 304,000 1,222,400 A 918,400
O33EAN2ENMALHIXA 204,000
O 2L X S (ZH]) 100,000
H A A E 23 TH AL 3,341,000 0 3,341,000
Xl 2,570,000
= 771,000
403 A X EHHSH=20IA 3,341,000 0 3,341,000
Xl 2,570,000
= 771,000
01 XM A= LE L 3,341,000 0 3,341,000
OYF=0OLEMHZES (NS ZHI) 3,341,000
Xl 2,570,000
< 771,000
SHEH=SAAHHAA 1,674,750 1,974,000 A 299,250
Xl 1,155,000
= 519,750
403 UtXISHHS =0l & 1,674,750 1,974,000 A 299,250
Xl 1,155,000
< 519,750
01 XM A2E X 1,674,750 1,974,000 A 299,250
Oa=22ASSAS (NS ZHI) 290,000
X 200,000
< 90,000
OSAIE A HEAIEZAE (NS ZHI) 580,000
Xl 400,000
< 180,000
O AHIIMNEE2AZ (XIS ZHI) 435,000
X 300,000
< 135,000
Oustel =z Molstos2 A48 (NS Zl) 369,750
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AR 2HBBAI2 SH o 2esEAMY
g osdAEFA
ool 2EMASHN EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OZ==232E=IIGMEX &AL 300,000
308 XXM SOIA 610,000 779,000 A 169,000
01 AXHHIYEES 610,000 779,000 A 169,000
OtistEetot 2 = "M & X & 100,000
DASE2H ==X & 50,000
O3&4EI2U=Ce0tMEL IR 100,000
O U SSHoHLIOHOl & X =AY X & 60,000
st Ot el M= X 300,000
gty 530,000 0 530,000
Xl 500,000
< 30,000
403 XIS E X201 H 530,000 0 530,000
Xl 500,000
< 30,000
01 AXSHHMA2E = 530,000 0 530,000
Oxegst2xd(22)(XNETH) 130,000
X 100,000
< 30,000
gxasgds2r24 (1) (NS<h) 400,000
Xl 400,000
SHEEZE =4I 500,000 150,000 350,000
= 300,000
= 200,000
308 XXM SOIA 500,000 150,000 350,000
= 300,000
< 200,000
01 XML EES 500,000 150,000 350,000
O2015=HEE2E =AM E X 500,000
= 300,000
< 200,000
FoAIAZENALZTA 15,986,500 4,020,500 11,966,000
X 5,240,000
< 10,746,500
AIREANALTR 7,311,500 996,000 6,315,500
201 Yere | 709,000 106,000 603,000
01 AP 2teltl 709,000 106,000 603,000
Ogst=2Hl 709,000
OMARENAZZTINRASMES 9,000
OCAaazZ2EZZNEDEHEE 700,000
202 Oddl 13,000 10,000 3,000
01 = LH 4 di 13,000 10,000 3,000
A= EDZ2NEYRFAAY 13,000
203 R XXl 4,500 0 4,500




A 2o2ZAH=E2 M 23EEAY
HH: 258HAYET
oSl 2AIRCAATEE (B9 ®R)
= - — SHE|
SA B E(BH) - NN - BYS e Hl D= 2t
03 Al =& Q22 & H 0 4,500
mEYIEL-SnET-N
306 243 0 4,400,000
01 &3 0 4,400,000
OEstAAZ2AXA
Oa3az=4g2XH
307 glztol & 0 1,100,000
02 IZtEMAHEE 0 1,100,000
20158 = AZ2EEHUSE2AE N R
OAMAIZEAZAIAEZ
I EHSHHER A ERCIDNE]
OAIZESZLEEAANY
308 XXM S0 A 880,000 A 445,000
01 AXNSHHBLAEES 880,000 A 445,000
O2sAArZadaAZIetd S
O3z EC0RUHCI M E
OH3a&t-HE et & X SN E
403 MtXISHH S A0l & 0 650,000
01 XM A=2EE 0 650,000
AAZTZRA=LTLHAY
O23AAZIAYASS R 22|
SEHAAT T LN 3,000, 000 0
Xl
<
403 UtXSHHSA=0l& 3,000,000 0
Xl
<
01 X SHMA2E X 3,000,000 0
FHAHZ A A G323 XH
T Hl)
Xl
<
FHIZERSUH=EA 0 5,675,000
Xl
<
308 A EHSOIA 0 5,675,000
Xl
<
01 HIXNHHBMNEES 0 5,675,000
020158 =432 C 23 UHEH (KIS ZHI)
Xl
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N = 0l & At & Ml A

A= 2o FHE= PN 2aRAD
g dSEARMAMAFT L E 2]
Sl 25HHE 4+ F | CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
E o= A D 79,799,747 75,112,996 4,686,751
= 45,821,641
Xl 8,924,000
J| 3,716,531
< 21,337,575
STRMAMAZTEE 2L 79,762,757 75,003,096 4,759,661
= 45,821,641
Xl 8,924,000
J| 3,716,531
< 21,300,585
23 ME+FHI 50,821,856 52,591,697 A 1,769,841
= 35,520,483
J| 1,216,080
< 14,085,293
E}ME=FHIFA 84,700 38,000 46,700
201 Let24d] 8,100 9,000 2900
01 At 22l 8,100 9,000 A 900
Opt=2Hl 8,100
O} ME+THFTUAREZTALYS 8,100
202 044l 21,600 24,000 A 2,400
01 = LH o4 1l 21,600 24,000 A 2,400
23 ME+=HH =& Wb 21,600
203 ¥ S =&l 5,000 5,000 0
03 AIEF=XH 2 =AY 5,000 5,000 0
O23t2elgRF=a 5,000
207 A O] 50,000 0 50,000
01 289 50,000 0 50,000
OS2t M=l MBAEAHESS 50,000
=INE 2 HE = 40,246,140 39,605,509 640,631
= 35,520,483
< 4,725,657
307 21201 A 100,000 0 100,000
= 70,000
< 30,000
02 LAFAAFEX 100,000 0 100,000
O=EdEESAAZLIHE ALY 100,000
= 70,000
< 30,000
403 XA SA=0l& 40,146,140 39,605,509 540,631
= 35,450,483
< 4,695,657
01 HXHMA=E X 40,146,140 39,605,509 540,631
O=tXNE 23 HE = 40,146,140




A2 2SRBAS2 FA 2k
FM: MNSEFMAMAZTEE 2
Sl 25HHE 4+ F | ER-ED
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
= 35,450,483
< 4,695,657
EXNZE=2ME = 8,100,000 9,995,785 A 1,895,785
403 UHXISHHSA=0l& 8,100,000 9,995,785 A 1,895,785
01 X SHHMA=E L 8,100,000 9,995,785 A 1,895,785
OEXNE23ME= 8,100,000
EXNEEZMES=ETSA 532,000 532,000 0
401 Al I 28I 532,000 532,000 0
01 A& HI 513,200 528,200 A 15,000
OSXNE2SMESAY 513,200
02 Zeltl 15,000 0 15,000
OEXNE=2MESHG 15,000
03 AlE S THHI 3,800 3,800 0
OSXNE2SMESAS 3,800
ML=+ 250,000 250,000 0
403 MtXISHHE X201 E 250,000 250,000 0
01 AXSHMA=2EE 250,000 250,000 0
O=23 M8 250,000
S HLTAIAE RS ,409,016 ,970,403 A 561,387
J| ,216,080
< 192,936
308 XX EHHSOIA 710,526 604,903 105,623
| 629,580
< 80,946
01 AXSHBELS 710,526 604,903 105,623
23 S XAl A S X 22 710,526
| 629,580
< 80,946
403 tXISHH S =0l & 698,490 ,365,500 A667,010
| 586,500
= 111,990
01 XM A=2E X 698,490 ,365,500 A 667,010
O2F MM AL RS 698,490
J| 586,500
< 111,990
EXNEZSAHMHHGLTAAE RS 200,000 200,000 0
403 XIS E X201 & 200,000 200,000 0
01 X SHHXN2E = 200,000 200,000 0
OEXE2 MM XAAR— RS 200,000
FIMESKX & ,993,178 5,008,900 N15,722
= 480,958
J| 2,500,451




A= SHBUHER SN 2R
M MESSRMAMAT B2
??: 2AMESXH CEE-ED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
T 2,011,769
S MESXJAF=X 12,150 13,500 A 1,350
201 et A H| 4,050 4,500 AN 450
01 AFR2 2t 2l Yl 4,050 4,500 AN 450
Odget=g| 4,050
OFMESANAFIMNRES LU S 4,050
202 O B 8,100 9,000 A 900
01 2L Y| 8,100 9,000 A 900
O23tMES XS =& 0] 8,100
S MAZ0l&2sHI X & 44,403 38, 100 6,303
308 AXISHMSOIHA 44,403 38, 100 6,303
01 AIXHMBAEEXZ 44,403 38,100 6,303
OS2 MAZ0l&2sH A& 44,403
=S a2 55,000 55,000 0
= 55,000
308 AHXI S SO0l 55,000 55,000 0
= 55,000
01 AIXHMBAEXZ 55,000 55,000 0
O=3F a2 55,000
= 55,000
SStHSE2CIMHP2S 1,919,374 1,580,001 339,373
Dl 1,476,451
T 442,923
308 XX S M SO0l & 1,919,374 1,580,001 339,373
J| 1,476,451
= 442,923
01 AIXHMBAEXZ 1,919,374 1,580,001 339,373
23 ot X A Hl o & Bl XI 1,919,374
Dl 1,476,451
& 442,923
A=t 382,500 650,000 N 267,500
201 et A | 12,500 70,000 A57,500
01 AFR2 2t 2l Yl 12,500 70,000 257,500
Odget=gH| 12,500
OFBIILEZEHHEAHASE 12,500
307 212t01 & 370,000 530,000 A 160,000
02 DIZtZAAMEE X 370,000 430,000 A 60,000
OF3SFLINIASLAINMIH & ALY 120,000
OSIJIEE R X & 150,000
OSSN MNLAMNE (B AAE) 100,000
ZStHAAI 222 S K& 1,706,667 2,066,667 A 360,000




A= 2BBAS= FA ZetR e
B HESUASMANHNEE2L
??: 2AMESXH (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
Jl 1,024,000
< 682,667
307 glz2tol & 1,706,667 2,066,667 A 360,000
J| 1,024,000
< 682,667
02 It M AHE X 1,706,667 2,066,667 A 360,000
O2FMSSME 1,706,667
J| 1,024,000
< 682,667
SIS SR 2| 8,078 16,632 A 8,554
= 8,078
308 XtXIEHH SOl A 8,078 16,632 A 8,554
= 8,078
01 AXHHILEES 8,078 16,632 A 8,554
OEZstHelAte 2R 2 12| 8,078
= 8,078
oM 2 SN (EXE) 210,000 270,000 A 60,000
307 gl2tol & 90,000 120,000 230,000
02 It S AIHE L 90,000 120,000 /30,000
OHIXNES - DA XA 90,000
308 XXM SO0l A 120,000 150,000 A 30,000
01 IXNHHBNEES 120,000 150,000 A 30,000
OEXNE23MSE2eld X 120,000
M A ZSHTH A 236,250 104,000 132,250
= 135,000
< 101,250
308 XtXIEHHSOIA 236,250 104,000 132,250
= 135,000
< 101,250
01 X HHILEES 236,250 104,000 132,250
[ M3 o1 THAHS 236,250
= 135,000
< 101,250
AOtsHEMIE DAY 401,850 191,000 210,850
= 267,900
< 133,950
308 AHAIEHHSOIA 401,850 191,000 210,850
= 267,900
< 133,950
01 HXNHHNBHELS 401,850 191,000 210,850
Oa0otsH =t AY 401,850
= 267,900
< 133,950
dHJlgEEs 16,906 0 16,906




=: AN =S= 2M 23R
M HEISRAAMAREEZ 2t
?: BIMESKA

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 77,980
< 1,926
308 XX EHHSOIA 16,906 0 16,906
2 14,980
< 1,926
01 HIXNHHBNEES 16,906 0 16,906
OXHFAQISBHALX R 16,906
= 14,980
< 1,926
SEEFMAA 3,134,040 1,703,750 1,430,290
= 1,994,200
< 1,139,840
PEESIMANAF=E 22,950 25,500 A 2,550
201 Let2d| 4,050 4,500 A 450
01 AL 22l 4,050 4,500 A 450
T = T 4,050
ORI FIANRESHIS 4,050
202 oddl 18,900 ,000 A2,100
01 = LH o4 1l 18,900 ,000 A 2,100
RS MAE =N 18,900
FEEAMESNR 518,000 ,000 78,000
308 XXIEHHSOIA 518,000 ,000 78,000
01 X HHILEES 518,000 ,000 78,000
DRSS MISHBAMXR 72,000
OREEIMNERUSAE 364,000
OREESHMERSMAZ 48,000
OetsXE =0l S AHI X & 9,000
O+ =ML 2HIA 25,000
SERRME NS 2AE 2,587,000 ,500 1,358,500
= 1,990,000
< 597,000
403 XIS E X201 & 2,587,000 ,500 1,358,500
= 1,990,000
< 597,000
01 X SHHX2E= 2,587,000 ,500 1,358,500
ORESSFMESUSHAE I (2F) 1,027,000
= 790,000
< 237,000
OREEIME-NSHAY XN (EH) 1,170,000
= 900,000
< 270,000
ORPE2 MW 2AL RN (2L S E) 130,000
= 100,000
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AR 2HBBHSD 2N 2EHRMD
FM: MNSEFMAMAZTEE 2
S BSMKHYLA DAL CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 6,008,514 5,071,800 936,714
= 5,324,000
< 684,514
01 X SHMA2E X 6,008,514 5,071,800 936,714
OMAs A EE2e] 6,008,514
= 5,324,000
< 684,514
AAIESRAEZH 1,500,000 3,000,000 A 1,500,000
Xl 1,000,000
< 500,000
403 MtXISHHE X201 & 1,500,000 3,000,000 A 1,500,000
Xl 1,000,000
< 500,000
01 X SHHA2E = 1,500,000 3,000,000 A 1,500,000
OtIEAIIEZAY 1,500,000
OLAAHBAMNBA(MHSHELM) (XSS
bl) 750,000
X 500,000
< 250,000
OLAAtANSA(SSALHL LM (XS
1 750,000
X 500,000
< 250,000
ot RN L 2,805,000 870,000 1,935,000
Xl 2,100,000
< 705,000
FaRu2EIZ 75,000 105,000 230,000
308 MtXIEHMSOIH 75,000 105,000 230,000
01 ISP ARES 75,000 105,000 230,000
OXSeE0SMERESEEZ O 30,000
Ouaadszaadso 30,000
ORssMdMNLEMEIZ20B 2 15,000
NH 2R A 2,730,000 585,000 2,145,000
Xl 2,100,000
< 630,000
403 A X EHHSH20lA 2,730,000 585,000 2,145,000
Xl 2,100,000
= 630,000
01 X ESHHMA=E L 2,730,000 585,000 2,145,000
OFA2HEFHIH (NS EHI) 910,000
Xl 700,000
< 210,000
OM0IZF=HAEH (XISZHI) 1,820,000
Xl 1,400,000
< 420,000




2 - 4
CERA - FE S (BH) - MR A 0l &t o8 il HlnE2
UAZAARASHZ=E 130,000 0 130,000
SHEAUSERERMSHFY 30,000 0 30,000
207 A RO 30,000 0 30,000
01 A2 ESHI 30,000 0 30,000
OSBRI RERMUSHSE=AR 30,000
FUHENHIES ST 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
02 It HAHEE 100,000 0 100,000
OFuHMTNAINSSMSTHAESAIHBAIE X =
& 100,000
AMBIEATH 9,056,400 3,944,000 5,112,400
= 2,000,000
Xl 5,824,000
< 1,232,400
ZFGAR2IEAES 6,885,000 3,944,000 2,941,000
Xl 5,824,000
< 1,061,000
403 A X EHHS K20l A 6,885,000 3,944,000 2,941,000
Xl 5,824,000
= 1,061,000
01 X EHHMA=2LE L 6,885,000 3,944,000 2,941,000
O3FAMESEAEHA 6,885,000
X 5,824,000
< 1,061,000
D00l K& 2,171,400 0 2,171,400
= 2,000,000
= 171,400
403 UtXISHHS =0l & 2,171,400 0 2,171,400
= 2,000,000
= 171,400
01 XM A=2EE 2,171,400 0 2,171,400
DS O0I0IXIRIIAH 2,171,400
= 2,000,000
< 171,400
HE2LZH (2SR L) 36,990 39,900 22,910
Jl23l 36,990 39,900 22,910
JI23l 36,990 39,900 AN2,910
201 LBt2E | 24,570 26,100 A 1,530
01 At 2t 2l 24,570 26,100 A 1,530
Jget=ZHl 13,770
OJI=2NRESSE 13,770
mE=3=1:] 10,800
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A= 2o FHE= M 22X EY
Hu: pENANLHE
Chel 2eloetxry (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OZFUIXAHURFTIRASHNES 11,000
202 044l 19,000 19,000 0
01 = LH 4 1l 19,000 19,000 0
OaZoluetXdPRFA0H 19,000
22 A ete s 425,000 0 425,000
403 UHXISHHE X201 H 425,000 0 425,000
01 X SHHX2E= 425,000 0 425,000
OSSN S B2 E AL 300,000
OMEEIIE2I)ISEZAY 125,000
22 RO 3,280,000 3,648,000 A 368,000
Xl 2,600,000
< 680,000
403 MtXISHE X201 & 3,280,000 3,648,000 A 368,000
Xl 2,600,000
< 680,000
01 X SHHAN2E= 3,280,000 3,648,000 A368,000
OosS2st2A 2N E LAY (S ) (NS ZHI) 1,200,000
Xl 1,000,000
< 200,000
O XNELMS(IF)(NSEH) 390,000
Xl 300,000
< 90,000
OFA2ZX=HZH (L) (XS EHI) 1,040,000
Xl 800,000
< 240,000
O d+2ZXot+=Hel ANEIMNL (83 (XS
< Hl) 650,000
X 500,000
< 150,000
ST NAWL(EX) 28,651,000 26,037,000 2,614,000
Xl 23,155,000
< 5,496,000
403 MHXSHHSA=01& 28,651,000 26,037,000 2,614,000
Xl 23,155,000
< 5,496,000
01 X EHHMA=E L 28,651,000 26,037,000 2,614,000
OXG USRS (Z28) (XS ZHl) 260,000
Xl 200,000
< 60,000
OoZASHNIAXTE(FAF)(NSSH) 975,000
X 750,000
< 225,000
O HABRNSA (LA )(RNSEZHI) 390,000
Xl 300,000
< 90,000
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AR 2HBBASS N 2BRSD
Hu: pENANLHE
Helr 2Tty cet )
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
B ssa8 22 XH & OH & 520,000 507,000 13,000
Xl 400,000
< 120,000
403 UHXISHHSA=0l& 520,000 507,000 13,000
Xl 400,000
< 120,000
01 HXESHMA=LE L 520,000 507,000 13,000
et S ZME S MR REA (28 (X
E&Hl) 520,000
Xl 400,000
< 120,000
SO A2 L 1,640,000 1,950,000 310,000
Xl 1,521,000
< 119,000
403 A X EHHSH20IA 1,640,000 1,950,000 310,000
Xl 1,521,000
< 119,000
01 X ESHHMA=LE L 1,640,000 1,950,000 A 310,000
OSsd=azazge FH A Hel Z 2
A (2 ) (XS 421,000
Xl 421,000
oaolgond 22Xt S&Hl) 650,000
Xl 600,000
< 50,000
OXNEoes2EX (28)(XNSxZHl) 569,000
X 500,000
< 69,000
EH 22100 SE I L ALY 213,200 520,000 /306,800
J| 164,000
< 49,200
308 MtXIEHSOIH 130,000 260,000 A 130,000
J| 100,000
< 30,000
01 HXNHHBHEELS 130,000 260,000 A 130,000
OHFAWMATI S Z ME) 22 DA 130,000
J| 100,000
< 30,000
403 UHXSHHS =0l & 83,200 260,000 A 176,800
J| 64,000
< 19,200
01 XM A=2E X 83,200 260,000 A 176,800
OF=AWMAT S A 83,200
J| 64,000
< 19,200
SHSAT AN 4,420,000 4,355,000 65,000
Xl 3,400,000




AR 2HBBASS SN BBIESD
Hu: pENANLHE
Chel 2eloetxry (9 ® =)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Ei HR=2
= 1,020,000
403 XX SHHS K20 & 4,420,000 4,355,000 65,000
Xl 3,400,000
= 1,020,000
01 XIS A=Z2E X 4,420,000 4,355,000 65,000
OJUF=MAZLH NI (IF)(NESL) 520,000
Xl 400,000
& 120,000
OARSAE(2H)(NESY) 910,000
N 700,000
= 210,000
OF2IMAHSELMESX (AF)XNES L) 390,000
Xl 300,000
o= 90,000
OEHAZ2ZS=0lU2HUE)(NESY) 2,600,000
Xl 2,000,000
& 600,000
28D AMIE T A ALY 1,200,000 0 1,200,000
J| 1,000,000
== 200,000
403 XX SHHS K20 & 1,200,000 0 1,200,000
Jl 1,000,000
== 200,000
01 XIS A2E X 1,200,000 0 1,200,000
ABHAAME XS ALY 1,200,000
J| 1,000,000
=} 200,000
SHBZELSL NS 2GR 1,300,000 0 1,300,000
J| 1,000,000
= 300,000
403 XX SHS K20 & 1,300,000 0 1,300,000
J| 1,000,000
& 300,000
01 MXHHNE2E = 1,300,000 0 1,300,000
O=2EZ248 22N 3AIS 1,300,000
J| 1,000,000
= 300,000
HIOF2t 2 X 22 4,776,500 3,880,500 896,000
J| 3,130,000
o= 1,646,500
HIOI2ZH e 25X 4,500 4,500 0]
203 €2 F=&d| 4,500 4,500 0
03 Al ZH =X 2= XIH| 4,500 4,500 0
CJHOF2ZO LA 22X 4,500
L NPl =Y 790,000 700,000 90,000




Zo2ZH=E= SN 22X
BN L &S
Bl OF 2t 2 XH& 2tel

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

308 X EHSOIA 150,000 0 150,000

01 HIXNHHBHNEELES 150,000 0 150,000
IS 20l = MoK = X & 120,000
HSsdsdddMEE2ES ALY 30,000

403 UHXSHHSA=0l& 640,000 700,000 A 60,000

01 X HHMA=ZLE L 640,000 700,000 A 60,000
Oet=sddos22 N4 400,000
LIEID M & 22 XH & OH & 240,000

S AE 22T S 260,000 0 260,000
J| 200,000
= 60,000

308 XtXIEHHSOIA 260,000 0 260,000
J| 200,000
< 60,000

01 X HHILEES 260,000 0 260,000
OS2 AEI 23 X3 SHAHY 260,000
J| 200,000
< 60,000

M2 NAS(NE ) 590,000 590,000 0
J| 500,000
< 90,000

403 UHXSHHSA=0l& 590,000 590,000 0
J| 500,000
< 90,000

01 HXSHHMA2E X 590,000 590,000 0
Odssts2A2 NS (ONES) 590,000
J| 500,000
< 90,000

dEsssS2Z VA (MEZZ ™) 207,000 207,000 0
J| 180,000
< 27,000

308 XXM SOl A 207,000 207,000 0
J| 180,000
< 27,000

01 IXNHHBNEES 207,000 207,000 0
OdSss22 NS (MEZZOY) 207,000
J| 180,000
< 27,000

U EEXY 2,925,000 1,950,000 975,000
J| 2,250,000
< 675,000

403 A X EHHS 20l A 2,925,000 1,950,000 975,000
J| 2,250,000
< 675,000




A3 23RBS SN 2RUED
Hu: pENANLHE
S HOr22 X 2e (SH9: &)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 HXSHMA2E X 2,925,000 1,950,000 975,000
O3 HEET ALY 2,925,000
| 2,250,000
< 675,000
MEAAY 148,836,214 114,584,500 34,251,714
Xl 131,800,000
< 17,036,214
=g RFA 25,500 25,500 0
201 LBt2E| 13,000 13,000 0
01 At 22l 7,000 7,000 0
Opt==Hl 7,000
OSHEAHIRFIRASHES 7,000
03 A2 Z Hl 6,000 6,000 0
L3t HAL A A SN 6,000
202 O4Hl 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
O3 E A AS =& A I 8,000
203 PR =&l 4,500 4,500 0
03 A Z=XH R =AY 4,500 4,500 0
O3tH2stE At =& 4,500
M=t 22 EAY 65,000 0 65,000
207 A RO H| 65,000 0 65,000
01 289 65,000 0 65,000
O3zt 2dBISALdLSE NS 65,000
NAKRDAH 233 9,367,143 9,875,000 A 507,857
Xl 8,300,000
< 1,067,143
403 Ut S E X201 & 9,367,143 9,875,000 A 507,857
Xl 8,300,000
< 1,067,143
01 X SHHXN2E= 9,367,143 9,875,000 A 507,857
ONAKRLUSH 2SS (S, 85H)(ANSEY) 9,367,143
Xl 8,300,000
= 1,067,143
st=2 234 0t 3 6,207,143 11,286,000 25,078,857
Xl 5,500,000
S 707,143
403 MHXSHHSA=0l& 6,207,143 11,286,000 25,078,857
Xl 5,500,000
< 707,143
01 HXSHMA=E X 6,207,143 11,286,000 A5,078,857
Ost=2stH0tmMA (¢S, F)(XNESL) 6,207,143




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

Al 5,500,000
< 707,143

CSHEFHEEE 23,474,286 19,468,000 4,006,286
Xl 20,800,000
< 2,674,286

403 UHXSHHSA=0l& 23,474,286 19,468,000 4,006,286
X 20,800,000
< 2,674,286

01 HXSHMA=E X 23,474,286 19,468,000 4,006,286

OUSYESUEUELTL (25,98, 85,24

JXSEEY) 23,474,286
X 20,800,000
< 2,674,286

JHOF=H AL ETHE 0t A AHR O & 9,028,572 2,257,000 6,771,572
Xl 8,000,000
< 1,028,572

403 A X EHHSH20IA 9,028,572 2,257,000 6,771,572
Xl 8,000,000
< 1,028,572

01 XM A=LE L 9,028,572 2,257,000 6,771,572

OMOFRAANZEWS HH AT RN (DS, &%

JNESY) 9,028,572
Xl 8,000,000
< 1,028,572

=S =20l0FI]Ltet 10,721,429 0 10,721,429
Xl 9,500,000
< 1,221,429

403 UM E X201 H 10,721,429 0 10,721,429
Xl 9,500,000
< 1,221,429

01 X HHMA=E L 10,721,429 0 10,721,429
OYS20l0ILUeHAF)NXNSESY) 10,721,429
Xl 9,500,000
< 1,221,429

A=FAIIE S 7,787,143 6,771,000 1,016, 143
Xl 6,900,000
< 887,143

403 UHXSHHS =0l & 7,787,143 6,771,000 1,016,143
X 6,900,000
< 887,143

01 XM A=2E X 7,787,143 6,771,000 1,016, 143
O&=zsAMI2Fe(Z)(NEEY) 7,787,143
Xl 6,900,000
< 887,143

EoAGtOtZ HI S & 11,285,714 5,643,000 5,642,714
Xl 10,000,000
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= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t

< 1,285,714

403 MtXISHHSA=0l& 11,285,714 5,643,000 5,642,714
Xl 10,000,000
< 1,285,714

01 XM A=2E X 11,285,714 5,643,000 5,642,714
OgotstotorzHI 22 (A& )(NSSY) 11,285,714
X 10,000,000
< 1,285,714

SMESAMMAE 16,702,857 8,013,000 8,689,857
Xl 14,800,000
< 1,902,857

403 XIS E X201 & 16,702,857 8,013,000 8,689,857
X 14,800,000
< 1,902,857

01 X SHHA2E = 16,702,857 8,013,000 8,689,857
O=SMISAMAE(2E M) XNSSY) 16,702,857
Xl 14,800,000
= 1,902,857

U2t NS A FA 54,171,427 51,246,000 2,925,427
Xl 48,000,000
< 6,171,427

403 XXM S XH=0| & 54,171,427 51,246,000 2,925,427
X 48,000,000
< 6,171,427

01 X SHHMA=LE L 54,171,427 51,246,000 2,925,427
O=EXSAZE(FRONKNESTY) 5,078,571
Xl 4,500,000
< 578,571
OYysdamds2d (20,08 ,82)(NssY 4,965,714
Xl 4,400,000
< 565,714
OsSoA&Feld (g 2L (NSSY) 6,771,428
X 6,000,000
< 771,428
Odlet2dAXs(d8) (NESY) 2,821,429
Xl 2,500,000
< 321,429
OS5l BMA(HE)(ANSEEY) 2,934,286
Xl 2,600,000
< 334,286
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HZOAHELEMX S 1,970,000 1,916,000 54,000
J| 666,000
S 1,304,000
et =M 1,152,000 1,152,000 0
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308 MtXIEHHMSOIH 580,000 530,000 50,000
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N = 0l & At & Ml A

=: 2 H=E= FMHSIEY
HHESscAaEY
I HEXE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ME&sH 51,996,179 48,483,709 3,512,470
Xl 8,285,000
J| 3,378,507
= 40,332,672
HEeEscdaddy 51,963,509 48,451,309 3,512,200
Xl 8,285,000
J| 3,378,507
< 40,300,002
=X 18,346,000 17,885,000 461,000
SH=E3 X 12,530,000 12,185,000 345,000
307 21201 A 12,530,000 12,185,000 345,000
02 HAFAAFEX 11,200,000 10,931,000 269,000
OS2 AIHH XA 11,200,000
03 BIAHNHE2IHIELS 1,330,000 1,254,000 76,000
OEM=s3s22H XA 1,330,000
NEAzsZI=2=ENA 5,816,000 5,700,000 116,000
307 glz2tol & 2,600,000 2,200,000 400,000
02 QIZtE M AHEE 2,600,000 2,200,000 400,000
OEE2sdIIRsE4NE 2,600,000
308 MtXIEHSOIH 3,216,000 3,500,000 A 284,000
01 X HHBLEES 3,216,000 3,500,000 284,000
OANZE2sZIRS4dIR 3,216,000
M=l X 7,348,000 6,701,700 646,300
SXADI(B)ZIItHal S S K& 55,000 55,000 0
307 gl2tol & 55,000 55,000 0
02 It M AHE L 55,000 55,000 0
O XA (B ZII I 8 X 55,000
X SHH M= A& 2,225,000 2,595,000 A 370,000
308 XX EHSOIA 2,225,000 2,595,000 A 370,000
01 HIXNHHNBNEES 2,225,000 2,595,000 A 370,000
OMB38 M &2 FHI K& 1,700,000
OZM4=ESXNAIIBHASUHHE X & 30,000
OSSEHACSI AU R X 30,000
O=sEX210Is8=dI30ctEWHI MR XA 40,000
O3FZ2RNOtetEU N2 XA 200,000
OEFIMsLAE=SAUNE XA 50,000
2015220t EEL =M EWHRIMNE XA 100,000
OZ&4=2EXAINE =22 U HE K 30,000
ORI EZZHHEHA WS OHE XA 30,000
OZ&4=SEXANE AU E XS 15,000




2 2A BB S(EH) - ALY Ol &+ o4 SSa HmEET

d=A2H=S0Us XA 530,000 500,000 30,000

308 AHAIEHHSOIA 530,000 500,000 30,000

01 X SHHBAE 530,000 500,000 30,000
OdIAZUSHSUHINE X 530,000

LAEHSSAXA 40,020 38,900 1,120

201 L2l 4,140 4,600 A 460

01 At 2t 2l 4,140 4,600 A 460
Oger==&H| 4,140
Oa&sM=d 4,140

202 Odl 23,980 22,400 1,580

01 S LHAYI 23,980 22,400 1,580
OASHS AKX 23,980

203 YR =&l 9,900 9,900 0

03 MM FXH S =AY 9,900 9,900 0
OASHMsAX 2 4,500
O=2HMUzsgeFd 5,400

303 Z& 3 2,000 2,000 0

01 243 2,000 2,000 0
OdsSHaRSSRESAY 2,000

20152 EEZNAZAMSUHE XA 4,497,980 3,512,800 985, 180

201 Let2d] 22,060 62,200 A 40,140

01 At 22l 22,060 62,200 240,140
Opt=2Hl 21,260
OAELDINLHTK 1,260
O20158 =2 ZHNAHZLHMSUHIER 10,000
OUaXNZEadREd2d 10,000
[E=3=3:] 800
OZUMsSUHIAFRFES A 800

202 O4dl 4,920 4,600 320

01 = LH 4 1l 4,920 4,600 320
020152 S22 MAZ UM S S = 4,920

306 =93 4,471,000 3,446,000 1,025,000

01 &3 4,471,000 3,446,000 1,025,000
201583 =S2ZMAZ AN SH A2 X 4,471,000

MEH =X 6,673,749 6,878,209 A 204,460
J| 3,353,507
< 3,320,242

SHEHFSX 1,800,000 1,750,000 50,000

307 21201 A 1,800,000 1,750,000 50,000
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40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 1,800,000 1,750,000 50,000
OCMEMSaALHI X 1,800,000
CHENSIIXNA(BR) 688,000 771,000 A 83,000
J| 65,647
< 622,353
307 glz2+ol & 688,000 771,000 A 83,000
J| 65,647
< 622,353
03 A EHE2LHIES 688,000 771,000 283,000
ODEMEMS2A2EH X 688,000
J| 65,647
< 622,353
HEYS2ILMEXH 501,300 830,300 329,000
308 XX EHHSOIA 501,300 830, 300 A329,000
01 HXNHHBHELS 501,300 830,300 329,000
OMssna2IR 214,300
OAMNZdEMS32SH XA 124,000
OENSSdgUa iz XA 18,000
OM2sa Sl ME M S X & 120,000
20153 =SHEN M HSHE XA 25,000
AXSHEEM=SHS X 120,000 40,000 80,000
308 XX EHHSOIA 120,000 40,000 80,000
01 HXNHHNBHELS 120,000 40,000 80,000
Og=AuAOt2tECHSI 0 = X2 30,000
OFZBHAIOCtEW 2R X & 10,000
[J20158 = A 901 CHOI & CH &I OH = X & 30,000
0201534 HABHE AU MR X 25,000
O20153 4= 8BS E2US 0 E XA 25,000
&N = X & XHBH X 53,376 53,376 0
J| 24,288
< 29,088
307 gl2tol & 53,376 53,376 0
J| 24,288
< 29,088
02 PIZHEHAHEE 53,376 53,376 0
OE=ME M=K & X X 53,376
J| 24,288
< 29,088
THANS2SH 89,276 89,276 0
J| 34,732
< 54,544
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403 UHXSHHSA=0l& 4,000,000 4,000,000 0
01 X SHMA2E X 4,000,000 4,000,000 0
OHB32 =T AMEALNE = 2,000,000
LH548 ts S M A AIE 00 E = 2,000,000
ANZHSAELES 100,000 0 100,000
403 A X EH S 20l A 100,000 0 100,000
01 X SHHX2E= 100,000 0 100,000
OAZHMESAES 100,000
HESALERFaA 9,880 9,600 280
201 ¢er24| 2,070 2,300 A 230
01 At 22l 2,070 2,300 A 230
Ogpt=2tl 2,070
CEES R EEPET 2,070
202 o4l 7,810 7,300 510
01 = LH 4 Hi 7,810 7,300 510
OMSAEsLELHARFAN 7,810
O MSKEA 2,734,880 2,833,800 98,920
J| 25,000
< 2,709,880
S MS2XR 2,201,000 2,351,200 A 150,200
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02 IZHEHAHE L 1,774,000 1,765,000 9,000
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OEH s 22 X & 427,000
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02 It AT EL 164,000 93,000 71,000
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